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Instructions for the candidates :

1. G qureaa A IIR] &I & |
Candidates are required lo give their answers in their own words as far as
practicable.

et 30 Er w R ge % gl Bk wa &1
Figures in the right hand margin indimt'e"ﬁdl marks‘.

N

3. 5 S T g o & By 15 fire s R &

15 minutes of extra time -have been allotted for the candidates to read the questions
carefully.

4. 9F WAYT T GUST A & — WVE-I 07 AUB-q/
This question paper is divided into two sections — Section-A and Sgction-B.
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SN R coargtng wer § Frk 4 it so gt @ 3T 3 T 41 qamg
#”ﬁ’*"ﬁf*aﬂfﬁwm 50 IwT @7 @ gedinT TG FR1 [FEr
W w¥T & iy 1 97 fuife &1 @@ 3r @t Juer @ T8 OMR I T
36 9 ) At/ e a9 s o o T & g

T Rt / &% / 3 anfe a7 OMR Jwv-fRvaT § FaiT &A1 541 &, =y
WINT WMy sy gy
In SCC“OH-A. there are 60 U!th'c‘ll'w type questions, out Uf which any S50'questions

are to be answered. First 50 answers will be evaluated by thescomputer in case

more than 50 questions are answered. Each question carmes 1 mark. Darken the

circle with blue / black ball pen against the correct option on OMR Answer sheet

provided to you. Do not use whitener / liquid / blade / nail etc. on OMR-sheet,
otherwise the result will be invalid,

6.

TUS-T 4 27 99 3w v b Fri @ fed 15 w¥l @1 9T A AfErd #
VE 9V & fou 2 9% Fiifta &1 s7 sifafer, @ ave F 8 3 I Wy
& T § Rt 4971 FT IA7 I #1 G g & v s s Bt &

In Section-B,.there are 27 short answer type questions, out of which any

I35 questions are to be answered. Each question carries 2 marks. Apart from this,

there are 8 long answer type questions, out of which any 4 questions are to be

answered. Each question carries § marks.

-

7. [o% R & st SYRT F1 ST qoiAar af &

Use of any electronic appliances is strictly prohibited.
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TUg - A / SECTION - A
Zﬂﬂﬁﬂ H¥T / Objoctive Type Quostions
¥ §E@Tr 18 60 A% & WA & @y wrr frwew Rv wo & frrd @ vw w1 Bt

s05vAt & Fav e grT g7 77 Wt frwew Wt OMRVilE wv Fafdra w1

50x1=50

Question Nos. 1 to 60 have four options, out of which only one is correct. Answer any
S0 questions. You have to mark your selected option on the OMR-Sheet. 50x1=50

5 64z cm? &HEH aTel IY HT A

(A) 15 cm (B) 16 cm
(C) 20cm (D) 17 cm
The diameter of a circle with area 64n em? is
(A) 15 cm (B) 16 cm
(C}] 20cm (D) 17 cm
2. f aper @1 APQR T fem ¥ 6 /D= cQ T LR = o1 A FrefafEa § |
FI-H1 TEl & ?
(A) LF = ZP (B) LF =20
(D) £LE= LP

(C) «£D=4LP
In ADEF and APOR. it isgiven that /D = /Q and £R = ZE ; then which of the

following is truc ?

(A) ZF=ZP (B ZF=£Q
(C) £ZD = 4P (D) £LE = LP
¥ HﬁfﬂﬁWTﬂEx+3y=5 Gl 4r+ﬁy=15§"ﬂ%
() et g (B) 3 &
G} W FA W (D) ¥ & T

The pair of equations 2x+3y =5 and 4x +6y =15 have
(A)  unique solution - (B) infinitely many solutions
(C) no solution (D) none of these

Page 3 of 24
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4 AR 1
u&“-‘-?" H?HﬂoﬂuﬁSm-ll??ﬂmﬁt.mmmmt
Ay [12)
€ 3 o) 4
WICF of 65 and 117 is in the form of 65 m - 117 then the value of m is
(Al 1 (B) 2
3 D) 4
2,10 ¥R 20 F Fowto 3R Home & UM &
A 110 B 10:1
€4 D)y 11:1
the ratio of the LCM and HCF of 2, 10 and 20 is
(Al 110 B) 10:1
€ 4:3 D) 11:1

6

ﬁ?%ﬁﬁ-ﬁﬂﬂﬁﬁ'#{ig#@ibmmhﬂ,ﬁmmmt

(Al Ibh (B] ’!2 + b2 + h2
€) 2k (D)  2(lb+bh+1lh)
If the length of a cuboid'is 1, width b and height h, then the volume of the
cuboid is
(A) bk (B) J 12 +p2+n2
(C)  2lbk (D) 2(lb + bh +lh)
7 tan10%an15%°1an75°an80° = ?
A V3 B -l
(B) Wit
< =1 D 1
8 =i 8 1 em-w fram e g 2
(A} 2x'-3x=(x+1)? B) x*-2/x+3=0
() 3x? +2=(3-x)2+4 (D) -‘72"‘%=4
x
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Which of the following is a quadratic cquation ?

(A) 2x?-3x=(x+1)? B) x?-2/x+3=0
(C) 3x?+2=(3-x)7+4 D £2-Lag
xl
Y. UF dFA ¥R UE WE & R wwa &) aft I Fanat ) wne @, @ =
YA &1 S &
(A} 1:2 B) 2:3
] 3:2 o 3:1

The basces of a cylinder and a cone are same. If their heights are also same, then

the ratio of their volumes will be

(A) } 12 (B) 23
(F 322 (D) 3:1
0. 38 W fag 7t fe fagait A(-1,0) 3R B(5,0) AFAA A RE, &
A (0,2) B (2,0)
€) (3,0) (D)  (0,3)
The point-on x-axis which is cquidistant from points A(-1,0) and B(5,0) is
(A)  (0,2) (B) (2,0)
(C) (3.0) (D) (0,3)
1., =i0,<52 2.8 .34ﬁﬂﬁaﬁ_#@r? |
(A) 15 _B) 12 ;
() 13 (D) 14
The number of terms in -10,-6,-2, 2, ..., 34 is
(A) - 15 B 12
(cy 13 (D) 14 ‘
12, fag (6, -5) @ o FEmE &
By 6 B -5
(C) -6 (D) 5
[110 ]G [5010-G u7 Page 5 of 24
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The x-coordinate of the point (6, = 5 ) is

A 6 B -5
€ -6 D) 5
13, TR o x(2x- 5)- 3 % v o am
2 5
W3 B -3
3
G ) (D) ..3_
The sum of the zeros of the quadratic polynomial x(2x-5)-3 is
2
A = _3
3
© -3 o 2
14. 1+2+3+,,,+n’lﬂﬁ'{%
Y | @ Mntllin+2)
n(n+1) ' o]
(C) = D) "“‘2 }
1+2+3+ ... +nisequalto :
n+l 1 2
(A) . = (B) n(n+ 2}ln+ )
/7 n(n+1 -
o S o A
15. Fficien 4 A e agw & 2
3 1
(A)  x*-5x+4aJx+3 B) x2-x+x2+1
(C) JE+71; D)  2x2-3J3x+6
Which of the following is a plynomial ?
3 1
(A)  x%-5x+4Jx+3 (B) x2-x+x2+1
€ Vx+= D)  V2x2-3/3x+/6
Jx
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16.

17.

18.

19.

12m $¥ @Y & I W T3 @ o F cEn a3 m & G w I FR

A 60° (B)  45°
(C) 30° (D)  90°
The length of the shadow of a 12 m high pillar falling on land is 443 m. The

angle of elevation of the sun is
(A)  60° (B) 45°
(Cy 30° : (D)  90°

AABC T& §uah et & frad 2o = 900 & A cos(A + B) 1 A

Jf\] 0 . B) 1
1 3
(C) 3 (D) -

AABC is a right angled triangle in which £C =90°. The value of cos(A + B) is

(A O B 1
’ ] J3

€ 3 L
g3t (2,3)W@ (-2, 3)FdT R G &

@ 3 By 4
(O .- (D). 6
Distance between the points (2,3 )and (-2,3) is
(A3 (B 4
iy 5 (D) 6

T Ao U1 VT F AR F1 BRI 3 ; 4 % W H § A IR FAwdi 2:3F
FuE B &1 Hei & EEE H I ¢

R | @B 9:8

(C) 8:9 - (D) 4:3
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The radii of the bases of a cylinder and a cone are in the ratio 3 : 4. If they have

their heights in the ratio 2 : 3. the ratio of their volumes is
(Al 3:4

B 9:8
) 8:9 (D) 4:3
2. 3R 34,5, 17mm xHE A 6R, @ x WAL
Q) 1 B 2
€ 3 D) 4
If the menn of 3, 4, 5, 17 and x is 6, then the value of x is
A) 1 B) 2
€ 3 D) 4
21 3.4.7,2,7,6,7,9 % 5o ¥
(A) 2 (B) 3
© 7 (D) 9
Mode of 3, 4,7,2,7, 6, 7,98
Ay 2 (B)
< 7 (D)
22, 13 ¥R 19 & 19 GxiE T &
(A) 13 iB) 16
) 19 by 12
Airthmetic Mean between 13 and 19 is
(A) “13 B) 16
(C) 19 (D) 12

23. i fgum wHiwmo xz-px+4=ola'7‘1ﬁmﬁﬂ)lp-?

(A) +3 B 4
(C) -+5 (D) 2
If the roots of a quadratic equation x? - px+4 =0 are equal then p =9
A) 3 B 4
€) 5 (D) +2
| 110 ] G [5010-G un Page 8 of 24
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24 Wit o MU b ST W R W) o it W meme B

A} a m b
€ ab o §
Il a and b are prime numbers then LCM of a and b s
Al a B b
I ab (D) %
25, g (wyPgigmfeg At
A Jad-y? B Yy
€ x3-y? D) x%?

Distance of the point ( x, ¥ ) from the origin is

A Yx-y? B JA+y

(C) x* -y: . (D) x’y’
26, frafefaa § } w1 anmg d@e 7
(A) 15 - B 23
€ 12 D) 75
Which of the following is a prime number ?
(A) * 15 B 23
(€I 12 D) 75
27.  (1+tan0+sec0)(1+ cotl - cosecB)=?
Ay -1 B O
c 1 o) 2
28, ufe wH gu @ Ry 2n ¥ TG 4x w1 & T, A IHE ATES &
(a) I B 3T
) AT - (D) W
| 110 | G [5010-G 019 Page 9 of 24
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' the circumlerence of a circle is increased from 2 to 44, its area will be

(A)  halr (B)  two times

(€} three times (D) four times
29, fad g fg & frumes w2

Ay (1,0 B) (0.0)

€ (-1,1) (D) il A F1d T

Which of the following is the co-ordinate of the origin ?

A (1,1 (B) (0,0)

(c] [ ~1 P 1 ]

(D) Nonc of these
30, x=-5® yew ¥ T v w) o

(A) 3 & TR (B) 3 & T

€ T fag & ol g8 (D)~ 3 A F13
-
What type of straight line will the graph of x = - § be ?
(A} parallel to x-axis (B)  parallel to y-axis
(C)  passing through the origin (D)  none of these
31.  sin(90°-0)=
(A) sin0 - (B) -sin0
(€} cos@ (D) =cos0
32, TpetefEa § § & ofolg den b 2
Ay 2-43 B 5
2J/3
wr = D) V6
Which of the following is a rational number
A 2-43 B 5
2J/3
C D
(C) i D V6
[110 ] G [5010-G n7] Page 10 of 24
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33, oz .fcu..::;-'ﬂ.*ﬁmmﬂmt“

'
(A) % m %
w3 LI S
:rmn--:%.nm(mnumm
A % ™33
AR o Y

14 'F'-l-iﬂ" A 4 ¥ e ;'&WJ"&I’W‘*W*’-W'

(Al (0.12) m (6.0) .
'C' {6, 4) ﬂ '0‘0' 0
The co-ordinates of the ma) pvant of the e sopment josning the pointa A(, 4)
and H(-), B} i
N (0,12) ™ (6,0)
Q (6.-4) ™ 10.6)
3s. Sl yn o o e st w7 1t i mwed } )
JA ] m 2
() ~3 Dy ¢
How many tangents can be drawn from an external point on a circle ?
(A1 m 2
« 3 Dy 4
ain6)®
¥ e
w [
K 2 > 3
{110]G [010Gn Page 11 of 24 -

BiharboardQuestionpaper.com


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

37, foam e ? e d o2 % yrnw

A 3,4 m -3.3
© -33 o) v A w
The zeroea of the polynomial x? + -ﬁl-x -2 are
A 3,4 (B) -%%
(€ - —:-% (D) noneof these

38. H{QE svi 10,7, 4, ... ®1 30 &} 9% aqmag ¥

(A} -55 (Bl -66
Cy -77 (D) 81
The 30th term of the AP, 10,7, 4, ... is cqual to
@A) -55 B) -66
€ -77 D) 81

39, ufz umoz% #, @ coseco F AR &

17 8
M B) 5
15 ' 17
© 3 O IE
If lanli - TB'S-' then the value of cosecd is
17 o
15 17
€ 17 - ﬂ?l 1
40.  1® 100 T Tt Wi Wil # g |
(A) 4050 - (B so0s0 .
(C) 6050 | (D) 7050

[110]) G [5010-G (17) F Page 12 of 24
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The sum of all natural numbers from 1 to 100 is

(A) 4050 (B). 5050
(C) 6050 (D) 7050
a1, QW x, y ¥ a® TS ax+ by +c =0 F et afvmam s v £ 2
Ay 1 (B) 2
© e (D) TH & B T
How many maximum solutions of the lincar cquation ax+by+c=0 are
possible in two variables x, y ? biharboardquestionpaper.com
Ay 1 B) 2
(C)  Infinitely many ' (D)  nonc of these
42, TR A 1,4,7,10,.. F AR BB E ?
N 2 : (B) 27
) 30 (D) - 35
Which term of thc A.P. 1, 4,7, 10, ... is 88 ?
(A) 26 (B) 27
(€ 30 D) 35
43. fag(-3,-5)Fn g q e ?
(A) 99 U5 | ® fg o
wf  FHEw 0 I TR
In which quadrant does the point (- 3,-5) lic_._?
(A) Ist quadrant (B) 2nd quadrant
(C)  3rd quadrant (D)  4th quadrant
44.  2cos?60° F HH &
1 T
w3 ® 3
1
S Y3
[110] G [5010-G an ' Page 13 of 24
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Value of 2coa? 60* in

]
U o
< 1
; o3
45, hﬁﬁﬂfm‘&mw*,qu},maﬂmlm- 108 ?
(A) ¥ -3xs 10 (B3) x?+3x-10
€ x?*-3x-10 (D) W i it T8

In the following which is the quadratic polynomial whose sum of zeros is 3 an4
product is - 10 ?

(A) x2-3x+10 (B) x? +3x-10

(&) x?-3x-10 (D)  nonc of these

s6.  Frfifam § 9 @-ah ww, o e A e A6 @ ww E 2

2 ; ‘
w 2 B -0s
€ 07 ' (D) 15%
Which of the followifig numbers cannot be the probability of an event ?
2 -05
(A) 3 (B) |
) 07 ' D) 15%

47. mﬁzﬁmma\tﬂﬁmwmm o femeren gim 2

@ 1 B 2
© 4 . o FEIRE
The HCF of the smallest composite number and smallest prime number is
A 1 (B) 2 .
i) 4 (D) none of these
[110] G- |5010-G ¢ Page 14 of 24
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a8,k v a1 A, R S 1 em ¥, #) W 4 mm 2 ) A
AR @ R ®
A 1R em B Zcm
R x
(C) 100x cm (D) 10000 cm
A wirc of 4 mm diamcter is made by pulling a metallic cube whose side is 1 ecm.
The length of the wire is
100 25
A) = cm - B) =cm
(C) 100r ¢cm (D) 10000 cm
49.  1+tan’0 =
Ay sec? 0 (B) cosec?0
(C) tan?0 (D)  cot?0
s0. 4k & wwww G @ @ ywsl d 3 : 4 B W R, d I e w5
A &
(A 3:4 B 4:3
o 9:16 (D) 16:9
If the corresponding sides of two similar triangles are in the ratio of 3 : 4, then
the ratio of their perimeters is
(A) 3:4 (B) 4:3
(C) 916 (D) 16:9
51, UF GAARE Y ABC F T Y 12 cm g, a1 Fa Fa E
(A) 642 cm (B) 643 cm
© 36 cm (D) 66 cm
One of the sides of an equilateral triangle ABCis 12 cm, then its height is
(A)  6J2 cm (B) 6vV3 cm
(€ 3/6 cm (D) 66 cm
[ 110 ] G [5010-G a7 ° Page 15 of 24
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52. g st ;
S8 3“”'5M6I-Qy-k ﬁ:‘!ﬂ!!ﬁqﬁ.“}

A keg M) k=0
€ ke D) ke-10
If the : .
© ©quutions 3x-y a5 and 6x - 2y = k have no solution, then
I€) k=10 D) k=-10
5a; " < - -
} ‘{fnnIU'UmETm{mwammaﬁmIﬁﬂWWﬁﬁﬁf‘
g &
(A
)} 100m (B)  100¥2 m
(€) 290 m
73" Dy 200m

The length of the string of a kute flying at a hewght of 100 m from the ground and
angle of clevation 60 e

A 100m B 10043 m
< %m ™ 200m

54. ﬂkamhﬁmwwﬁddwhﬂmwtquﬁﬂ.
M uedw wnviter @ s

A N3 em B % cm
€) 33 em D 6cm
Il two tangents inchined at an angle of 60° arc drawn 1 & circle of radiua 3 cm
then the length of cach tangent is
A 23 em B) %m
€ 3/3em | M 6cm
| 110 ] G |{S010-G an| Page 16 of 24
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55. 52 aml W F T W AW aw Hew, mﬁamqmmﬁmmtl
WE ®F 1 T 6 A wiwan feadt § 2
WS %

© o

52 (D)

3

39

A card is drawn al random from of a well-shuffled deck of $S2 cards. What is the
probability of getting a king of black colour ?

]
A3 m 35

" | 3
€ ™ 35

56. fqefatga d R #Y3 coseco & TRk ?

cosl)
(A sin0 B sech
" 0
.!9" 8in0 o 0
Which of the following is equal to cosec® ?
coall __]_
(A sin0 B sec D
1
(C) A0 (19 ] m%m
57 uft 2mn0e«1, M (3cot?0.3) W WA BW
A 12 m 1S
) 9 o B8
If 25in0 = 1, then the value of (3cot? 0 « 3) will be
(A) 12 B 15
c 9 o 8
[110] G [5010-Q un Page 17 of 24
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(A 1
'2 | 1

c
©< o D)

|-

The Probability of an impossible event is

A
W3 ® 1
) o 1
(D) 3
a4 BES Mo oI+ x® - i-’:il.’ 12 F kS "'-F":F ; ?
A -3J2.02 !
ko B -342.
! 2
b .'_'__3 __-_! w -
“ en D) @ # W
Which of the following dte seroes of x° - x-127
W -32.72 ® -3/2,-)
92
(C) _3. : : (D)  none of these
220z '
60. AT & FAH TH A gt @
(A) 9§ (B) T
© == (D) ¥R # FE 4
The largest chord of a circle is biharboardquestionpaper.com
(A) arc (B) chord
(C) diameter (D) none of these
[ 110 ] G {5010-G un Page 18 of 24
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W'Y - ¥ / BECTION - B
wq I wv [ Bhort Answer Type Questions
7v7 WAy 18 277% Wy I &1y @ Rt 1swl & v &1 aRiE avT & R

2 3% Fruffa #1 ' 15x2%30 .
Question Nos. 1 to 27 are Short Answer Type. Answer any 15 questions. Each question
carries 2 marks. 15x2=30

I T 1T L quapey e g gur S S

L

Three coins are tossed together. Find the probability of getting at<least two
hcads.

2. feurd ag9R x? -2x-8 % YR I HAT - 2
Find the zeroes of the quadratic polynomial x?-2x-8.,
3~ @& HF sin?5° + 5in? 85° + sin? 10° + sin” 80° = 2. 2

Prove that sin? 5° + sin? 85° + 8in® 10° + 8in2 80° = 2.
4. UH g AABC FI Y BC B P [ W it wan & aw et AB 3 ac H
WA W FEE Q AUl R W WA e ¢ fog Ffae e Ao=-;-(MBc &l

qieAm) | 2
A circle”is: touching the side BC of AABC at P and touching AB and AC

produced at Q and R respectively. Prove that AQ = -;—(Pprimcter of AABC).
5, ww%aﬁwwmmﬁnﬁmm%cmh ; 2
Find the area of a quadrant of a circle i if its perimeter is 25 cm.

6. 2 Ordl @ UF IR Henl A8, mﬁmmmaﬁaﬁnﬁr«mmﬁl 2-

- Two dice are thrown togcthcr. Find the probability of getting even numbers on -
.both dice. '

[110] G [5010-G un . Page 190024
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8

i

L=

J/B-'”‘ AR 71an0 = 4 8, A (7sin0 - 3cos0) & 99 7 &L

Q

10.

%2 % fw5 (3. v5) v amfda wrwm b -,
Prove that (34 /5 } is an irrational number.

R % 0 e ax waon o2 - 4x- 1 = @ W E6H FEE) | . 3
Using quadratic formula find the solution of the equation 2 -4x-1=0.

TR A w0 1) k) v drd q aed w34 81 T

T ITE #ian 2

Determine the common difference of an A.P. whose 4th term.is 11 and sum o
the 5th and 7th terms is 34,

TH \ABC ﬁan.acwéahfaz&ﬁfaiMB‘+CD’|-(AC’+BD?I- 2

Ina \ABC, AD is perpendicular to BC. Prove that (AB? + CD?) = (AC2 + BD? ).

(75in0 + 3cos0)

If 7tan0= 4, then find the value of {7sin0 - 3cos0)
(7sin0 + 3cos0)’

Srd xR I R FA R A g3l a2, -5 B2, g F @A 2

Find a point on x-axis which is equidistant from the points A (2, -5) and
B(-2,9).

13 xﬁnyﬁ@mmhaaﬂﬂf:ha:x.y)nnmw 5) VU™ Rl 2

\

Establish a relation between x and y if the point ( x, y ) is equidistant from
(7.1)and (3,5).

a7 & wemait w1 Howo 23 ¥ 79 T FoRo 1449tiﬂfvz@m 1&1% @ g

T T F: ' 2
“The HCF of two numbers is 23 and thicif LCM is 1449, | one number is 161,
then find the other number. ’
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15.

16.

JE

18.

19.

afe a. i wmm ar%bx.»cﬁswﬂ?ﬂ u2+ﬂ21ﬂ‘|ﬁmﬂ'ﬂl 2

Il . p arc the zeroes of the quadratic polynomial ax? + bx +¢, then find the

value of a? + p2,

gfdT3 & faarem weriifes w1 st & 272 AT 1032 % HoWo Frwed | 2
Using Euclid's division algorithm, find the HCF r;f 272 and 1032,

I/ NI & 76 9 Frerel forre = 14 om € 2.
Find the surface area of a hemisphere whose diameter is’14 cm.:

7 & 9 79 F: , . 2

tan? 60° + 4 sin? 45° + 3sec? 30° + 5cos? 90°
cosec 30°+ scc60° - cot? 30°

Evaluate the following :

tan? 60° + 4 sin? 45° + 3sec? 30° + 5c0s2 90°
cosec30°+ sec 60° - cot? 30°

T T 200+ 5y =1, M 244 3y =3 T 79 o Faft A & FL 2

Solve thc systém of cquations 2x+5y=1 and 2x+3y=3 by cross-

multiplication method.

' 20. o-lﬁw‘gfwmﬁmﬁl 2
Convert 0-16 in the form of -;i
91, U FEgTE WP A HEE 24 em 3R R F B 7 em ¥, A I8F AR A
AT | | ' . 2
Calculate the volume of a right circular cone whose hcig_ht is 24 cm and radius
of the basc is 7 cm.
| 110 | G 3010-G (7 Page 21 of 24

BiharboardQuestionpaper.com


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

22,

2;‘("

24.

26.

¢ fs
‘\Ancﬂi{mﬂanﬂmacmﬂfw;nmfsﬂ“mimm
) cm 41

2

DE||BC, 2f&AD = (4x- 3 ) em, AE = (8x-7)cm, BD= (3%~ .
CE = (Sx-3)cm, @ x %1 173 frarat

In AABC, Dand E are two points on the sides AB and AC rcﬂP‘f‘-'“’"cl
DETIBC.1f AD = (4x -3 ) cm, AE= (8x-7)em, BD = (3%~ L Jjem ww
CE=(5x-3 ) cm, then find the value of x.

2
fog =1 f& M@-mlmu’nnnﬁ.
colA+cot BB

tanA+tan B3

Prove tha
at cotA+col 3

=tanAtan 8.

UH AABC & I fﬂf‘ﬁ A(-3,0), B(S5,-2) a1 C(-8.5) %I 4l fJ‘F’ Lo

A &ifau <

The vertices of a AABC are A(-3,0), B(5,-2) and C(-8,5) Find the

centroid of the triangle.

Frefefga e @ agers 7 @ -
Find the mode of the following distribution :
A 0-20( | 20-40 | 40-60 | 60-80 | 80-10CF| ¥60-120
Class-intcrval :
il 30 36 52 61 38 33
Frequency
FAfafea, dg 1 wna. 7 % 2
Find‘the mcan of the following distribution :
AL Syt 0-10 |- 1020 | 2030 | 30-40 40-50
Class-interval
HARN 7 8 16 9 10
. Frequency '

y/eﬁﬁmsﬁmm.lmoﬁmmmﬁma’mzmmﬁﬁrﬁmﬁmaﬁl 2

Il the sum of two numbers is 1000 and the difference of their squarcs is
256000. then find the numbers,
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“WWIM¢MWM“‘“
TP W 28 R 38 ¥ Twive by el @ Al o ot & e ) o o

fre s afw fratfem 1 e
Vuestion Nos 28 15 35 are Long Answer Type questions. Anawer any 4 questions. Each
question carmies § marks 4520

5

2K HHETN A x4 2y 3 T ax e 3y =2 W UG G S AR

Draw the graph of pair of equations x + 2y = 3 and 4x+3y=2.

20 UF 60 m P AZF & A AN s amr T dard s ) a6 #
a9 T & de :rgminthqtﬁ@nﬂa:ﬁrmé;mlﬂﬂmwm

ta()*}-mﬁﬁmmwﬁﬂhaﬁgﬁmﬁfﬂm 5

Two poles of cqual heights are standing opposite to cach other on cither side of
the road, which is 60 m wide. From a point between them on the road, the

angles of clevation of the top of the poles arc 30° and 60° respectively. Find the
heights of the poles and the distance of the point from the poles.
0. fag & fs gn @ 21w EEnsl & weifegs @ e e @ &
&% | {@ A& 5
Prove that the linc scgment joining ihc points of contact of two parallel tangents

of the circle passcs through the centre of the circle.

31, OF (T 36 50 WA @ @ a9 FR §1 A WS 10 km/hr HUE I 60
7, Al 30 A wEe | 2 92 F0 @ 3R AR 10 km/he ¥R TS S, @ I
faga wa @ 3 92 Afush @ | TS BRT a9 T g0 W & 5

A train travels a distance with equal speed. I the train had run 10 km/hr
faster, it would have taken 2 hours less than the scheduled time and if it had
run 10 km/hr slower, it would have taken 3 hours more than the scheduled

time. Find the distance travelled by the train,
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a2

i3

g ity _tanA_ |, cotA
(1-cotA) (1-tanA)

#»(l+tanA ¢+ cot A). 5

Prove that —tAnA cot 4
(I -cotA) ﬂ-nnnl'"'“n'hwm"

ﬁwmhp#mamhomﬁwmﬁ'ﬁw TR &
¥ ¥ 60" K. A Op W ®art ym Wt 3
If the angle between two tangents drawn on a circle with radius a and centre
O from an exterior point Pis 60, find the length of OP.

P T & ST 2 W2 R 20 k 4% Wl & 3 W & WG 262 F 4 km
TEA b T G A @ e v ) @ T S 5
Nisha can swim downstream 20 km in 2 hours and upstream 4 km in 2 hours,
Find her speed of swimming in still water and the speed of the current.

35 cm B #1 9 Wi 79 99 W Q@ 41 wyia S @ SS9 #

S

Draw a_cirele of radius 35 em. Draw two tangents to the circle which are
perpendicular to cach other.

flgr 9 v 3l yerat siifthfaas
TS QUe, ATe Que, 3fide-6l,

UTSTehd, Siied, Ald eee, Ae-317 31ie

W udten use u= 3nfd & f3e...

( BiharboardQuestionpaper.com p

‘K

[110] G [5010-G a7 Page 24 of 24

BiharboardQuestionpaper.com


https://biharboardquestionpaper.com/
https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

